Fixing Anchor Factory S I N C E 20 0 5

Growing with customers is our unremitting pursuit.

YUYAO XINTAI HARDWARE CO.,LTD.

www.xtanchor.com



QUALITY | INNOVATION | CUSTOMERS | WIN-WIN

for our survival for our development as our focus as our goal

9000m’ 120

factory employees

2005

Since

1SO9001

certification

90 50

7 kinds

: : : 40+
of testing production containers :
) ! categories
equipment machines per month
60+ 2
=
$1t5’000’000 exporting cussgo s branch
AT countries il offices

Enterpnise development history

SETUP AN GOODFLYING e o INFINITE
\DEPENDE 2 DI ' . POSSIBILTIES

FOURDED




JnE

REEIRER ©

Work Safety Stamdardization

A

CERTIFICATE

EHI T T AQBRIN02300071
RATHER RN AT

REETHFELZQEN
( nwms )

WHME: 0% FE@ A0 b =
Ba
A
@
Lt

Certificates and Honors

RRTEEERANER

DA sEuNeE  SRNEAR. wakuARE

P o

ERMBUEDOH MR
B T A E G A

BEUING HANGXIE CERTIFICATION CENTER COLLTD.
QUALITY MANAGEMENT SYSTEM
CERTIFICATION
YUYAG XINTAI HARDWARE COLLTD

Bagrnion s - ssmgHETN
i G T
Ropbrvnn Ak Hagibe Vi, S Tows, Yoy Chp, Dby
P, Ch 1 115484

csilsun
5 25 E B

HONORARY CREDENTIAL

s

oLt ey DURS

FHE—O— Il “HFHIMEA
AEBITL” wuKe.
R EAE, RATE Bk .

Gt F Pees-SX )

1 Lok X
aE =35 F

PUER, SATAREENMLE EHRE g@mm_w
REMM, 2022 12818 Aum =E

%:@@@

2

s

Sl s

I




L ke
ol [T

T

OOﬁUOﬁmnm Culture B Training like school = Management like army, Unity like family.




Production
Machines

www.xtanchor.com




Testing Equipments

1/
Fa

2

Hardness

Surface roughness

Coating thickness Salf spray test



Small white box

Barcode label

Color box

Cutcase

Product packaging

XTANCHQRQ 3

Plastic bucket

T e— - —

: I". XTANCHOR® =ils
| =

Plastic tub

PVC box



CONTENTS www.xtanchor.com

e Stone | Solid Semisold| Hollow HOIOW | Plagter  Light

Bage Concrete| Block = Brick | Brick CE{L‘;’;,e board Concrete

Wedge Anchor Metric “*mrb_‘:: 01 &%
Wedge Anchor Inch .-qm&-:: 02 ]
Concrete Screw Anchor m 03 e ©o
Chemical Anchor R 04 @
Conical Stud - =rraees 05 @

Flange Nut Sleeve Anchor @ 06 ® ©o (%]
Hex Bolt Sleeve Anchor {—— 7 @& @ O
Hex Nut Sleeve Anchor lﬁ e @® e O

Open/Eye Hook Sleeve Anchor C’m 09 ® O (]
Sleeve Anchor With Plastic Ring QI_-me 10 @ @ (%]
Tam Anchor (i A "n @ ©
Two Pieces Heavy Duty Anchor M 12 © (%)
Three Pieces Heavy Duty Anchor m 13 ® O
Fix Bolt 4 @ O
Split Drive Anchor — 15 @
Tie Wire Anchor R S %5 @ @
Hollow Wall Anchor 17 o e o

Drop In Anchor 18 ®




Recommended use @ XTANCHOR

Fixing Anchor Factory
Suitable use Q

Stone = Solid | Se Hollow | plaster | Light

Cecicon i Concrete| Block C i Cg,%ﬁléte board |Concrete
Ceiling Anchor b 19 &
Spring toggle & 19 e O
Express Nail Anchor A —— 20 [0} ®
Metal Frame Anchor e 20 O o o o O
Zamak Hammer Drive Anchor . 21 @ O
Zamak Self Drive Anchor 22 o o
Lag Screw Anchor 2 o o
Double Expansion Anchor 23 @ [ )
Single Expansion Anchor 23 (4 [ )
Nylon Hammer Drive Anchor 24 @® L 3 o
® O O
Self-dill Plasterboard Plug 26 e o

26

o
&
®
)
)

Nylon plug
Nylon nail-in anchor

77 @ 0 O O O

Hex Coupling Nut 28

P G
Nylon Frame Fixing Anchor ¢ 2
Y
[
-

. ——
Round Coupling Nut & : 29

Spring Nut ﬂ 29



Wedge Anchor Metric

Material: Mild steel, C1035,45# steel, SS304,55316.

1001AA060045
1001 AA060050
1001AADB0055
1001AA0B0060
1001AA0B0065
1001 AA060070
1001AA060080
1001AA060090
1001AA0B0050
1001AA0B0060
1001AA0B0065
1001AA0B0080
1001AA080090
1001AA080100
1001AA080120
1001AA0E0140
1001AA0E0160
1001AA100060
1001AA100070
1001AA100075
1001AA100080
100144100090
1001AA100100
1001AA100120
1001AA100140
1001AA100160
1001AA100180
1001AA100200
1001AA100220
1001AA120075
1001AA120080
1001AA120090
1001AA120100
100144120120
100144120140
100144120150
1001AA120160
1001AA120180
1001AA120200
1001AA120220
1001AA160080
100144160100
1001 AA160120
1001AA160125
1001AA160140
1001AA160180
1001AA160200
1001AA160220
1001AA200100
1001AA200125
1001AA200140
1001AA200160
1001AA200180
1001AA200200
1001AA200220

Pa(g&m

MEX45
MEX50
MEXES
MEXE0
MEXES
MEXT70
MEX30
MEX90
M8X50
MEXE0
MBXES
W 8x80
M8X90
MEX100
MBX120
84140
MEX160
M10X60
M10X70
M10X75
M10X80
M10X90
MM10X100
M104120
M10X140
M10X160
WM10X180
W10X200
M10X220
MA2X75
M12X80
M12:X90
M12X100
WM12X120
WM12X140
M12X150
M12X160
M12X180
M12X200
M12Xx220
M16X80
WM16X100
M16X120
M164125
MM164140
WM16X180
M168X200
M16Xx220
M20X100
M20X125
M20X140
M20X160
M20X180
M20X200
M20X220

XTANCHOR

Fixing Anchor Factory

115
B
iz
115
115

tis

mm

100

15

10
20
30
50
70
g0
110
130
150

10
20
10
30
50
60
70
80
110
130

25
45
10
25
85
85
105

30

25
45
65
85

SW
mm
10
10
10
10
10
10
10
10
13
13
13
13
13
13
13
13
13
17
17
17
17
17
17
17
17
17
17
17
i
19
19
19
19
19
19
19
19
19
19
19
24
24
24
24
24
24
24

30
30
30
30
30
30
30



Wedge Anchor Inch XTANCHOR

Material: Mild steel,C1035,45# steel, SS304,55316.

Fixing Anchor Factory

d 0 h nam t_f 1x
in in in
1002BD140134 1/4X1-3/4 154" 1-1/4" flikN 7/16"
1002BD140200 1/4X2 14" 1-1/4" 3/8" 7/1e"
1002BD140214 1/442-1/4 14" f=gEl 1/4" 7/16"
1002BD140212 1/4X2-1/2 14" 1-5/8" 172" /16"
1002BD140234 1AX2-3/4 154" 1-5/8" 34" /16"
1002BD140300 17453 14" 1-5/8" i 7/16"
1002BD140314 1/443-1/4 14" 1-5/8" 1-14" 716"
1002BD140334 1/4X3-3/4 14" 1-5/8" 1-34" /16"
1002BD140412 1/4X4-1/2 14" 1-5/8" 2-1/02" /16"
1002BD140500 1/4X5 14" 1-5/3" 2 718"
1002AA380214 3/8X2-1/4 38" 1-5/8" 1/8" 9/16"
100244380234 3/8X2-3/4 33" 1-5/8" 5/8" 9/16"
1002AA380300 31843 3/8" e 1/8" 9/16"
1002AA350312 3BA3-1/2 38" 2-3/8" 5/8" 9/1g"
1002AA380334 3/8X3-3/4 3/8" 2-3/8" 1-1/8" 9/16"
100244380400 3/8X4 38" 2-3/8" 1-3/8" 9/16"
1002AA350412 2/844-1/2 3/8" 2-3/8" V(B 9/18"
1002AA350500 31845 348" 2-3/8" 2-3/3" 91"
1002AA380600 3/8X6 3/8" 2-3/8" 3-3/8" 9/16"
100244380612 3/8XB-1/2 38" 2-3/8" 3-7/8" 9/16"
1002AA350700 3/8XT 3/8" 2588 4-3/8" 9/18"
1002AA120234 1/2X2-3/4 12" 2 1/8" 34"
1002AA120300 1/2X3 i 2z 3/8" 34"
1002AA120314 1/2X3-1/4 12" 2 5/8" 34"
1002AA120312 1/2X3-1/2 L 2 7/8" 34"
100244120334 1/2X3-3/4 172" 2 1-1/8" 34"
1002AA120400 1/2X4 i i 3/8" 34"
1002AA120414 12X4-1/4 12" 3" 5/8" 34"
1002AA120412 1/244-1/2 i at 7/8" 34"
1002441204 34 1/244-3/4 172" 3 1-1/8" 34"
1002AA120500 1/2X5 12" 4 1-3/8" 34"
1002AA120512 1/2X5-1/2 12" R 1-7/8" 34"
1002AA120600 1/2X6 12" ai 2-3/8" 34"
1002AA120700 12X7 172" 3 3-3/8" 34"
1002AA120812 1/2X8-1/2 12" 2 4-7/8" 34"
1002AA550312 S/8A3-1/2 5/8" 2-9M186" 316" 15M186"
1002AA5804 00 5/8X4 5/8" 2-9/16" 11/186" il
1002445804 14 5/8X4-1/4 5/8" 2-9/16" 15/16" 15/16"
1002AA550412 5/844-1/2 5/8" AT s 15/186"
1002AA550500 51845 568" 4-116" 316" 15M186"
1002AA580512 5/8X5-1/2 5/8" 4-1/16" 11/186" 15/16"
100244580600 5/6X6 5/3" 4-1116" 1-3/16" 15/18"
1002AA550700 5/8X7 5/8" 4-1186" | 2-3/16" 15M186"
1002AA550800 5/8X8 5/8" 4-116"  3-3M16" 15M186"
1002AA580812 5/8X8-1/2 5/8" 4-1/16" | 3-11/16" 15/16"
100244340414 3/4X4-114 34" 3 3/8" 1-1/8"
1002AA3404 24 2/444-3/4 34" o 7/8" =il
100244340512 3/4X5-1/2 34" 3 1-5/8" 1-1/8"
1002AA340600 3/4X6 34" 4-5/8" 28 1-1/8"
1002AA340614 3/446-1/4 34" 4-5/8" 34" 1-1/8"
1002AA340700 34T 34" 4-5/8" =i fl= 1
100244340800 3/4X8 34" 4-5/8" 2-1/2" 1-1/8"
1002AA340812 3/4XB-1/2 34" 4-5/8" i 1-1/8"

Pa(gm



Concrete Screw Anchor

Material: 10B21

g}

19901F 060030

19801F060050

1990 1F0600860

19901F060075

19901F060100

19901F080050

1990 1F0800860

19901F080075

1990 1F030080

19901F080100

19901F 1000860

19901F100075

19901F100100

199017100120

19901F 100140

19901F120075

19901F 120100

19901F120150

19901F 160100

19901F160150

6430

6450

6460

6475

654100

850

8X60

8ATS

8X80

84100

10X60

10X75

10X100

10120

10140

12X75

12X100

12X150

16100

164150

XTANCHOR

Fixing Anchor Factory

d i)

10
10
10
10
10
12
12
12
16

16

h nom

mm
25
25
50
50
50
45
45
65
65
65
55
55
55
75
75
70
90
90
90

90

AR R g ey

trix

mm
25
25
50
50
50
45
45
65
65
65
55
55
55
75
75
70
90
90
90

90

SW
mm

21

21



Chemical Anchor XTANCHOR

Material: C1035 45# steel, 55304,55316. =
Fixing Anchor Factory

L e e T T T T g

R T T T T L L L L L L

do N nam trix Hex Drive
mm mm mm mm

1008BC0O80110 M8X110 5
1008BC100130 M10X130 12 90 20 7
1008BC100165 M10X165 {2 90 5] if
1008BC100190 WM10X190 12 90 50 7
1008BC120160 M12X160 14 110 55 3
1008BC120250 M12X250 14 110 "5 3
1008BC160165 M16X165 18 125 115 12
1008BC160190 WM164150 13 125 40 12
1008BC200260 M20X260 2 170 60 12
1008BC200300 M20X300 22 170 100 12
1006BC240300 1124300 28 210 60 13
1008BC300380 M30X380 35 280 60 13

Pargm



Conical Stud

Material: 35K 40Cr,55304,SS316.

Pa(gga

14025E120120

14025E120140

1402SE120160

14025E160190

14028E160205

1402SE160210

14025E160215

14025E160225

1402SE160235

14025E160275

1402SE200260

1402SE200270

14025E200280

14025E200290

1402SE200300

14028E200320

14025E200330

1402SE200350

14028E200400

14025E200450

1402SE200500

14028E200580

14025E200600

1402SE200640

1402SE200650

14025E200690

14025E240350

1402SE240370

14025E240400

14025E240450

XTANCHOR

Fixing Anchor Factory

M12X80X120

M12X110X140

M12X110X160

MM16:4125X190

M16X125X205

M16X125X210

M16X125X215

WM16X125X225

M16X125X235

M16A125X275

M20X170X260

M20X170X270

M20X170X280

M204170X290

M20X170X300

M20X170X320

M20A170X330

M20X170X350

M20X1704400

2041704450

M20X170X500

M20X170X5850

M204170X600

M20X170X640

M20X170X650

1204170690

124 X220X350

24 X220 X370

124 X220X400

112442204450

do

mm

24

24

24

24

24

24

24

24

24

24

24

24

24

24

24

24

28

25

25

23

h nom

mm

80

110

110

125

Ity

125

5

125

195

125

170

170

170

170

170

170

170

170

170

170

170

170

170

170

170

170

220

220

220

220

tix

mm

5

45

50

70

80

90

130

85

75

85

g5

105

125

135

155

205

255

305

355

405

445

455

495

100

120

150

200



Flange Nut Sleeve Anchor

Material: Carbon steel, SS304,5S316.

1101AA065025

1101AA065036

1101AA065056

1101AA065075

1101AA080040

1101AA080085

1101AA080085

1101AA080100

1101AA080120

110144100040

1101AA100050

1101AA100060

1101AA100077

1101AA100097

1101AA100120

1101AA100125

1101AA100130

1101AA100150

1101AA100180

1101AA100200

1101AA120060

1101AA120075

1101AA120099

1101AA120120

1101AA120129

110144120150

1101AA160065

1101AA160085

1101AA160111

1101AA160147

1101AA200075

1101AA200107

110144200151

M5XE.5X25

M5X6.5X36

V5X6.5X56

M5X6.5X75

MEXEX40

MEA8A65

MBX8X85

MEX8X100

MEX8X120

MEX 10440

MEX 10450

MEX10X60

MEX10KTT

MEX10X97

MEX10X120

MEX10X125

MBX10X130

M8X10X150

WMEx10X180

WMEX10X200

W10X12X60

M10X12X75

M10X12X99

M10X12X120

M10Xx12X129

M10X12X150

M12X16X65

M12X16X85

WA ZAEX111

W12X16X147

M1EX20X75

M16X20X107

WM1EX20X151

XTANCHOR

Fixing Anchor Factory

6.5

6.5

5.5

5.5

10

10

10

10

10

10

10

10

10

10

10

12

12

12

mm

22

22

2

22

29

29

29

29

At

36

36

36

36

36

36

36

36

36

46

46

54

54

54

54

60

60

mm

15

35

54

12

22

39

59

82

92

M2

144

167

10

25

49

g9

Tk

100

23

53

90

43

85

10
10
10
10
10
13
13
13
13
13
13
13
13
13
13
13
15
15
15
15
15
15
18
18
18
18
24
24

24

Pafgm



Hex Bolt Sleeve Anchor

Material: Carbon steel, SS304,55316.

Pa(gga

-
-

XTANCHOR

Fixing Anchor Factory

1114AA080045
111444080060
1114AA080080
111444080090
1114AA100060
111444100080
1114AA100085
1114AA120065
1114AA120080
1114AA120100
1114AA120120
1M14AA160075
1114AA160090
1114AA160100
1114AA160120
11444160145

] b

MBAEA45
MBX8XE0
MBXEXE0
MEX8.480
MEX10X60
8410480
MBX10X85
M 10xX12X65
h10xX12X80
104124100
M10X12X120
M12X16X75
W 12X16X90
12164100
MA12X16X120
MA2A16X4145

d 0

10
10
10
12
{2
12
2
16
16
16
16
16

R nom
mm
36
26
36
36
50
50
50
55
55
55
55
85
65
85
65
85

t fix

mim

20
40
50

25
30

20
40
80

20
30
50
75

SW
mm

10
10
10
10
i1
13
13
17
i
17
i
19
19
19
19
19



Hex Nut Sleeve Anchor XTANCHOR

Material: Carbon steel, SS304,5S316.

Fixing Anchor Factory

1107AA140138 1/441-2/8 174" 7/8" Sl B 378"
1M07AA140214 1/4X2-1/4 14" 7/8" 1-3/8" 378"
1107AA140212 1/4X2-1/2 174" 7" =5/ 378"
1107 AAS60112 5M16X1-1/2 aMg" 1-1/8" aMg" 716"
1107AAS60178 5/MBX1-7/8 aMg" 1-1/8" e 716"
1M07AAS560212 5M186X2-1/2 518" 1-1/8" 1-5/18" 718"
1107TAASB0300 51643 5M186" 1-1/8" | 1-13M16" | 7/18"

1107AA560312 5M1643-1/2 sne" 1-1/8" 2-5/16" 7m1e"

1107AA380178 3/8X1-7/8 38" 1-142" 38" 142
1107AA380212 3/8X2-1/2 38" 1-1/2" 1" 1/2"
1107AA380300 3/8X3 3/8" 1-1/2" s 142"
1107AA380312 3/8X3-1/2 3/8" 1-1/2" 2 172"
1107AA380400 3/6X4 3/8" 1-142" 2-172" 142"
110744120214 W2X2-1/4 vz 1-2/4" /8" 9/18"
1107AA120234 12X2-3/4 172" 1-2/4" 7/8" 9/16"
110744120300 . 1/2X3 172" 1-2/4" 1-1/8" 9/18"
1107AA120312 1/2X3-1/2 (1774 1-3/4" Tt 9/16"
110744120400 11244 172" 1-2/4" 2-1/8" 9/18"
1107AA120500 1/2X5 12 1-3/4" i 9/16"
110744120600 1/2X6 vz 1-2/4" 4" 9/18"
1107AA580214 5/842-1/4 5/8" 2-1/8" /8" 374"
110748580212 5/8X2-1/2 5/8" 2-1/8" /8" /4"
1107AA580300 5/8X3 o/8" 2oy 13/16" 34"
110744550414 5/8X4-1/4 org" 2-1/8" 2-3e" /4"
1107AA580412 5/844-1/2 5/8" 2-1/8" 2-3/8" 374"
1107AA580500 5/845 5/8" 2-1/8" 2-718" 374"
1107AA580534 5/845-3/4 5/8" 2oy 3-5/8" 374"
1107AA580600 5/846 5/8" 2-1/8" 3-7/8" 374"
1107AA340212 31442112 /4" 2-3/8" 1/8" 15/16"
TMO07TAAZ40414 3/444-1/4 34" 2-3/8" 1-7/8" 15/16"
1M07AA340514 3/445-1/4 /4" 2-3/8" 278! 1515
1M07AA340512 3445112 34" 2-3/8" 3-1/8" 15/16"
1107AA340600 346 . 34" 2-3/8" 3-5/8" 151G
MO7TAA340614 3446114 34" 2-3/8" 3-7/8" 15/16"

Pa(gm



Open | Eye Hook Sleeve Anchor XTANCHOR

Material: Carbon steel.

Fixing Anchor Factory

do h nam

mm mim

1112AA080045 MBAEA45 3 45 10
1M12AA100060 MEA10X60 10 50 13
1112AA120070 M10X12X70 12 70 17
1112AA160080 WM12X16X80 16 30 19

Pa(gm



Sleeve Anchor With Plastic Ring

Material: Carbon steel, SS304,5S316.

1201AA080045

1201AA080060

1201AA090045

1201AA090060

1201AA100060

1201AA100080

1201AA110060

1201AA110080

1201AA120070

1201AA120100

1201AA140070

120144140100

1201AA160080

1201AA160100

1201AA160110

1201AA200080

1201AA200110

MEAEX45

MEA5XE60

MEX9X45

MEX9XE0

VIBX10X60

MBX 10480

W8X114£60

MMBX11480

M10X12X70

M10X12X100

M10X14X70

WM10X14X100

M12X16X80

M12X16X100

M12X16X110

M16X20X380

M16X20X110

XTANCHOR

Fixing Anchor Factory

d 0

mm

16

20

20

35

35

45

45

45

45

50

50

50

50

50

60

60

75

75

Lrix

mm

10

25

10

25

15

35

15

35

15

45

1=

45

115

35

45

35

sw
mm

Pafgm



Tam Anchor

Material: Carbon steel, SS304,55316.

ngg:::\

19150Y060045

19150080050

19150Y 100055

19150Y 120075

XTANCHOR

Fixing Anchor Factory

h nom

mm

MB(10X45) 10 45
MB(12X50) 12 50
M10(15X55(60) 16 55
M12(18X74) 18 75




Two Pieces Heavy Duty Anchor XTANCHOR

Material: Carbon steel, SS304,5S316. BT
' Fixing Anchor Factory

do hnom

mm mm

Yy —

\ P i 19151060045 MB(12X45) 12 45
KOOI, 111
r— Lt L

_ ' T 19151080050 M3(14X50) 14 50
P s UL (o)

19151100060 M10(16X60) 16 60

19151v120075 M12(20475) 20 75

19151160100 1116(24.100) 23 100

A A=

il L 0 L 0 ] @ )Ll @9 Lw; §

000

Pa(gm



Three Pieces Heavy Duty Anchor XTANCHOR

Material: Carbon steel, SS304,55316.

Fixing Anchor Factory

19152Y050040 M5X10:440 10 40
19152080045 MEX11445 12 45
19152Y080050 MEX13:X50 14 50
19152Y 100060 1015460 16 60
19152Y 120070 M12X19X70 20 70
19152Y 160095 M16X24X95 25 95
18152Y200125 M20X31X125 32 125

)



Fix Bolt

Material: Carbon steel, SS304,5S316.

19153Y060040

19153Y080050

19153100060

19153120080

19153Y160100

19153Y200130

XTANCHOR

Fixing Anchor Factory

MEX10:X40

W8 12X50

10X 16460

WM12X20X80

M16425X100

M20X30X130

do

mm

20

45

30

h nom

mm
40
50
60
80
100

130

R FOH

Pa(gm



Split Drive Anchor

Material: C1035,55304,SS316.

Pa(gg

1005BE360114

1005BE360112

1005BE360200

1005BE360212

1005BE360300

1005BE360312

1005BE360400

1005BE260412

1005BE360500

1005BE 140112

1005BE140200

1005BE140212

1005BE140300

1005BE140212

1005BE140400

1005BE140412

1005BE140500

XTANCHOR

Fixing Anchor Factory

"3MEK1-14( EX31E )"
"3MEK1-12( BX3E 1 )"
"3M6X2( 5X50.0 )
"BMBA2-1/2( X635 )"
"3M6X3( 5X76.2 )
"3MEA3-1/2( 5488 .9 )"
"3/16X4( 5X101.6 )"
"3/M16X4-1/2( 5X114 3 )"
"3/16X5( 5X127.0 )"
"4X1-1/2( 6.5X38.1 )"
"1/4X2( 68.5X50 8 )"
"1/4X2-1/2( 6.5X63.5 )"
"1/4X3(6.5 X76.2)"
"1/4X3-1/2( 6.5X88.9 )"
"1/4X4(6.5 X 1016 )"
"AKA-/20 651143 )"

"1/4X5(6.5X127.0 )

aM1e"

318"

2M1e"

3M1e"

316"

31"

3Mg"

3ne"

3Mg"

14"

14"

14"

14"

14"

1/4"

144"

14"

h nom

1-1/4"
1-1/4"
1-1/4"
1-1/4"
1-1/4"
1-1/4"
1-1/4"

1-1/4"

1/4"

172"

1-1/2"

o

2-1/2"

g

3-1/2"

4

14"

34"

1-1/4"

1-3/4"

2-1/4"

2-3/4"

3-1/4"

3-3/4"



Tie Wire Anchor

Material: Carbon steel

1003AA060040

1003AA060050

1003AA060055

1003AA060060

1003AA060090

1003AA060120

1003AA060150

1004EA140214

1004EA140218

5X90

64120

6X150

1/442-1/4

14AX2-1/8

XTANCHOR

Fixing Anchor Factory

Bmm

14"

14"

25mm

30mm

30mm

30mm

30mm

30mm

30mm

1-3/8"

1-1/4"

Pa(gm



Hollow Wall Anchor

Material: Carbon steel

Pa(g@

19400Y 040021
194007040032
19400Y 040038
1940070400464
19400Y04 00468
19400Y 040054
19400 040060
194007050037
19400Y 050052
19400 050065
19400Y 050080
194007060037
19400Y 060052
19400 060065
19400Y 060080
19400Y 080037
19400 080052
19400Y 030065
19400 080080
19410180045
19410Y18000S
194 10Y18000M
19410 18005L
19410 18000L
19410Y31600E
19410Y31600S
19410 316000
19410Y31604L
1941014000
19410 14000L

XTANCHOR

Fixing Anchor Factory

M4X21
MAX32
MA4X38
M4X46
MAX46
MA4X54
M4X80
M5X37
M5X52
M5X85
M5X80
MBX37
MBX52
M6XE5
MBX80
M8XaT7
MBX52
V8X85
M8X80

1/8XS
1188
1/8M
1/8SL
1/8L
3BE(5X3T)
2/15S(5X52)
3/16L(5X65)
3/16XL(5%80)
1/4S(6X52)
1L

do

o oo 00 o o

oo o

1H]
"
"
A
12
12

d p

mm

t fix

mm
10
15
i)
15
15
15
i
20
25
25
25
20
25
25
5
20
243
25
o5
10
1l
15
i)
15
20
25
2435
25
o5
25



Drop In Anchor

Material: Carbon steel, SS304,5S316.

18079Y060825
19079Y081030
19078Y 101240
19079Y 121550
19078121650
19079Y 162065
19079Y202580
19082Y142825
19062Y561030
19062Y3581240
19082125851

18082Y5875864

18082341081

XTANCHOR

Fixing Anchor Factory

MEXEX25

M8X10X30

M10X12X40

M12X415X50

M12X16X50

M1E6X20X65

M20X25X380

14X3/8X1

5M6X10.0X30.0

38A1/2X1-9M16

1/2X5/8X2

SIBXTIBXA2-1/2

3MAXNK3-3M6

gmm

10mm

12mm

15mm

16mm

20mm

25mm

358"

10mm

10"

5/8"

/8"

25mm

30mm

40mm

50mm

50mm

g5mm

50mm

1

30mm

1-9/18"

o

2-1/2"

3-3/16"

Pa(gm



XTANCHOR

Fixing Anchor Factory

Ceiling Anchor

Material: Carbon steel

40 9
40 35

19454E060035 6435
19454E060065 5465

(=2 BN =]

Spring Toggle

Material: Carbon steel

19350Y000004 4 T1mm
193350Y000005 M5 18mm
19350Y000006 L3 18mm
193507000008 M3 22mm
18351Y180000 1/8"-32 7g"
19351Y360000 3M6"-24 a/E"

19351Y 140000 1/4"-20 g flar
19351Y280000 3/8"-16 1

)



XTANCHOR

Fixing Anchor Factory

ho tix
mm mm
19451Y060030 6X30 6 35 3
19451Y060060 660 6 40 30
19451Y060080 6X80 6 40 50
19451Y080070 8X70 8 50 30
19451Y030110 8X110 8 50 70
Express Nail Anchar 19451080130 8X130 8 50 90
) 19451Y080150 8x150 8 50 110
Material: 50Mn, 65Mn 19451Y080180 8X180 8 50 140

Metal Frame Anchor

Material: Carbon steel

do ho tix

mm mm mm
19452Y080070 8A70 3 45 40 B
19452Y080090 8X90 3 45 60 PZ2
19452Y080110 824110 3 45 80 )
19452Y080130 8X130 3 45 100 PZ2
19452Y100072 10%72 10 L3 30 P£3
19452100092 10x92 10 55 50 PZ3
19452100112 10X112 10 55 70 PZ3
19452¥100132 10X132 10 55 90 P73
19452Y100152 10X152 10 55 110 i)
19452Y100182 10182 10 55 140 PZ3
19452Y100202 10X202 10 5 160 EEs

Pargm



Zamak Hammer Drive Anchor XTANCHOR

Material: Zinc alloy&Steel

Fixing Anchor Factory

do N nom

19001050022 "5X22(3/16X7/8)" 5mm 16mm gmm
19001060030 6X30 Gmm 25mm Smm
19001060040 640 Bmm 25mm 15mm
19001060050 6X50 gmm 30mm 20mm
19001060065 GX65 Bmm 30mm 35mm
19002140034 1/4X3/4 14" 5/8" 18"
19002140100 "1/4X1(6.5X25)" 14" 34" 1/4"
19002Y 140114 "1/4X1-1/4(6 5X32)" 14" 1" 1/4"
19002Y 140112 "1/4X1-1/2(6 5X38)" 1/4" 1 12"
19002140200 "1/4X2(6.5X50)" 14" i g
19002140212 "1/4X2-1/2(6.5X63.5)" 14" =0 it
19002140300 "1/4X3(6.5X75)" 14" 1-142" 1-1/2"
19002140400 . "1/444(6.5X100)" 1/4" (It Al

T

Pa(g@



Pt v

e 7
Pl

Zamak Self Drive Anchor

Material: Zinc alloy

Lag Screw Anchor

Material: Zinc alloy

19003140031

19003140038

19004150032

16005Y 130042

18005130031

19005Y 130032

18021Y130037

18022140042

19006140100

19006Y260114

19006380134

19008120134

19006120200

18007Y 140112

19007560134

19007380212

19007120300

XTANCHOR

Fixing Anchor Factory

14431

14438

15X32

13442

13X31

14433

15X37

14x42

1/4X1

5M6A1-14

3/841-3/4

12K1-3/4

1/2X2

1/4X1-1/2

5M6A1-34

3/BK2-1/2

1/2X3

W
mm

45435

45435

4 5435

4.5X35

4. 5435

4.5X35

45435

4.5435

1/2"

/2"

58"

/4"

54"

/2"

1/2"

58"

34"

i)

PZ2

BZ3

pPZ2

D

PZ2

PZ2

pPZ2

1-1/4"
1-3/4"

1-3/4"
1-1/2"

1-3/4"

212"

Pa(gm



XTANCHOR

Fixing Anchor Factory

Double Expansion Anchor

Material: Zinc alloy

19008Y 140012

19008Y560058

19008Y380034

19008Y 120078

19008Y580100

190087340114

14A2A1-114

5M6X5/8X1-1/2

3/BA3M4 A2

1/2X7/8X2-112

SI8K1X2-5/8

34A1-1/444

14"

516"

23"

5/g"

34"

172"

5/8"

34"

7/8"

1-1/4"

4"

Single Expansion Anchor

Material: Zinc alloy

B il ‘b l_.'- '!I—, B E

b

Pa{g@

19010Y000036

18010Y000014

19010Y000056

18010Y000038

19010Y000012

3MBX3/8X1-5/8

14AN2A1-314

5/16X5/8X2

3/845/842

V2KXTI8X3-1/4

316"

1/4"

5/16"

3/8"

1428

3/8"

12"

5/8"

5/8"

7/8"

1-5/8"

1-3/4"

314"



Nylon Hammer Drive Anchor XTANCHOR

Material: PA(Nylon), PE, PP,Steel (Screw) Fixing AnehEr Factory

19259Y 050030 MEX30 5 75 5 g
19259Y 050050 M5X50 5 25 25 pPz2
19259Y 060035 MEX35 g 30 5 (g
19280Y 060040 8440 5] 30 10 pZ2
19259Y 060050 MEX50 5] 30 20 2
18259Y 060060 MEXE0 ) 30 30 PZ2
19259Y 060070 MEAT0 6 30 40 P22
19259Y 060080 MEX30 ) 30 50 PZ2
19258 080060 8460 8 40 20 B
19259Y 080080 MEXE0 g8 40 40 PZ3
19259Y 080100 MEX100 8 40 60 RS
19259Y080120 MEX120 g8 40 g0 PZ3
19250Y 080135 MEX135 8 40 85 R
19259Y 100120 M10X120 10 50 70 PZ3

Pafg@



Nylon Frame Fixing Anchor XTANCHOR

Material: PA(Nylon),PE, PP,Steel (Screw)

Fixing Anchor Factory

do m Lix

mm I mm

19263Y060040 IMEX40 53 30 10 HL2
19263Y060060 IMEXED 53 30 30 BZ2
19263Y060070 MEXT0 53 40 30 HL2
19263060080 MEXE0 53 40 40 PZ2
19263Y 080060 IMEXED 8 50 10 PZL3
19263Y080080 MBXE0 8 50 30 PZ3
19263Y080100 MB¥100 8 &0 40 PZ3
19263Y080120 MEX120 3 50 50 PZ3
19263Y 100080 V11030 10 50 20 [BiE
19263Y100100 M10x100 10 50 40 PZ3
19263Y100120 M10K120 10 80 40 Rl
19263100140 M10X140 10 80 60 PZ3
19263Y100160 M10X160 10 80 80 [Sd

. r @ T @ E] @ E] @ r] @

a ¢* 5 v k. e G Va 3
a % 4 % 4 = A z a
a
e a ] p— 4 & A - " &

@—‘ @'_ i _ =

; ;& A g . . 4

4. 87 o - " < 4

<
Z P 4 4 o 4 . Pl
i . 4 4 4 a

s



XTANCHOR

Fixing Anchor Factory

.
™

Self-dill Plasterboard Plug

Material: Nylon

mim

i
3 -
] 1
~ &

19274130042 13442 4 5X35 2
19274% 140043 14443 4 5435 pZ2
19274Y 150032 15X32 4 5X35 L2
19276Y 140028 14428 4 5435 pZ2
19276Y 130037 13X37 4 5X35 L2
18277Y150022 16X22 4 5435 P22
18283120112 1/2X1-1/2 4 5X35 H2D

Nylon plug

Material: Nylon,PP,PE

do hnam

mm mim
19250% 040020 4X20 4 20
19250Y050025 5X25 5 25
19250Y 060030 6430 § an
19250070035 TX35 7 35
19250050040 8X40 3 40
19250Y100080 10450 10 50
192507120060 12X60 12 60
192507140075 14X75 14 75
19250% 160080 16480 16 80
19308Y000036 3/16" ang" 25
19306Y000014 1/4" 1/4" 30
19306Y 000056 s/1g" 518" 40
19306Y000038 3/8" /8" 50

Pa(gm



Nylon nail-in anchor

Material: Nylon&Steel

g

TEDPETARA -

19286360034

19286Y360100

19286360112

19286Y 140100

19286 140112

19286140134

19286140200

19286140212

19286140300

19286140400

XTANCHOR

Fixing Anchor Factory

"3MM6X3/4(5X20)"
"3M16X1(5425)"
"316X1-1/2(5X38 )"
"1/4X1(6.5X28)
"1/4X1-1/2(6.5X38)"
"X N-34(6.5X45)
"1/4X2(6.5X50)"
"X 2-1/2(6.5X85)
"1/4X3(6.5X75)"

"AXA(6.54100)"

3M1e"

316"

316"

1/4"

14"

1/4"

14"

14"

174"

14"

a/8"

78"

1-1/4"

7/8"

1-1/4"

1-1/4"

1-1/4"

1-1/2"

=

g

18"

1/e"

14"

178"

14"

172"

34"

=il

o



Hex Coupling Nut

Material: Carbon Steel, SS304

19506040720

19506081013

19506Y061020

19506Y061030

19506Y081130

19506031324

19506081325

19506Y101330

19506Y101730

19306101740

19306121640

19506121936

19506Y121940

195067162443

19506162450

193506203050

19506203060

19507Y015615

19507Y143822

19507Y561229

19507381250

19507Y381229

19507389644

19507Y125832

19507121644

19507Y583654

19307341057

19507735464

19507101464

XTANCHOR

Fixing Anchor Factory

WM4X7X20

MEX10X18

MBX10X20

MEX10430

MBX11£30

84123424

MEX13X25

M10X13X30

M10X17X30

M1 017440

M12416X40

W1 2X419X36

M12X19X40

WM16x24 X435

M16X24 X50

M20A430X50

M20430X60

#10X8.0mmx15.0mm

14 X3/8X7/8

SMEX2X1-1/8

3/BXN2K2

3MBAN2A1-1/8

3/8X9/16X1-3/4

N2X5BX1-1/4

T2X1MMEX1-3/4

S8X13/16X42-1/8

34K K214

TI8X1-1/4X2-1/2

1X1-1/4X2-1/2

ME

MG

M8

M3

M3

10

10

M10

112

1112

M12

16

M16

120

120

#10

14"

a/1g"

3/8"

35"

3/g"

12"

1/2"

5/8"

34"

T/8"

g

mm

10mm

10mm

10mm

11mm

13mm

13mm

13mm

17mm

17mm

16mm

19mm

19mm

24mm

24mm

30mm

30mm

gmm

Sisl

12"

12"

12"

9/18"

5/8"

11/16"

13M18"

g

1-1/4"

1-1/4"

20mm
18mm
20mm
30mm
30mm
24mm
25mm

30mm

40mm
48mm
50mm
50mm
60mm
15mm
sl
1-1/8"
0
1-1/8"
1-3/4"
1-1/4"
1-3/4"
2-1/8"
2-1/4"
2-1/2"

A

Pa(gm



XTANCHOR

Fixing Anchor Factory

Round Coupling Nut

Material: Carbon Steel, SS304

19509061020

19509061030

19508Y081125

19509Y081130

19509101330

19509121530

19509121535

19509%121540

MEX & 10X20

MEX b 10X30

MEX b 11425

MBX d 11430

M10A & 13430

M12X b 15X30

MA2A b 15435

M12X b 15X40

Thread

s

V6

s

s

M10

W12

M12

W12

$10

¢ 10

o 11

LN

$13

$15

$15

$15

h

mm

20

30

o5

30

30

30

35

40

Spring Nut

Material: Carbon Steel Stainless Steel

19500Y05A000 | M5(34.5X19X8) M5 345 19 5
19500Y06A000 | MB(34.5X19X8) (L3 4.5 19 5
19500Y08B000  MB(34.5X18X8) I8 .34.5 15 3 32 38

3

H

9

19500Y10B000 = M10(34.5X19X8)  M10 34.5 19 33

19500Y10C000  M10(34.5X19X9) = M10 34.5 19 33

19500Y12C000  WM12(34 5X19X8)  M12 34.5 19 38

19500Y12F000  M12(34.5X19X11)  M12 34.5 19 1 38

19501Y38B000  "3/8"-16BSW 38" | 345 19 3 25
(34.8X1048)"  16BSW

Pa(g@



XTANCHOR

Fixing Anchor Factory

Notebook

)



Tel:+86 0574 62021698 Fax:+86 0574 62020898
E-mail:sales@xtanchor.com Web:www.xtanchor.com

itk AT RUERIBEEIREZ37S, #%m 315464
Address: No.37,Zhenbei East Rd,Huangjiabu Town,315464,Yuyao City,Zhejiang Province,China.

Shanghai

B a5




